
08-06-2025

Liberty Non-Folding Cross Brace 



08-06-2025

The Non-Folding Hardware Kit will retrofit a Liberty Folding Base to a Rigid Non-Folding.
 

Item Number Part Number Description Quantity

1-7 506335 Non-Folding Hardware Kit, Liberty 1

1 100558 M6 Nyl Ins Domed Cap L/N Zc 2

2 100746 M6 Flat Washer Blk Zn 2

3 101826 M6 x 50 HHCS Blk Zn 2

4 101830 M8 x 70 HHCS Blk Zn 2

5 101858 Washer Flat M8 Blk Zn 4

6 102865 M8 X 60, BHCS, 28mm THD, BZ 2

7 103204 M8 Dome Locknut, DIN986, BLK Zn 4


